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123 113
6 11
H8 R
(R2_R5)
10 3,300 3,300 3,300 3,300
0 0 0 0 0
0 0 0 0 0
0 0 0 0 0
0 0 0 0 0
10 3,300 3,300 3,300 3,300
0.2
0.2 28 32
3,300 0 0 0
1
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a 50 50 50 50 50
b 50 78 24 31 0
b/a % 100.00 156.00 48.00 62.00 0.00
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b 80 96 41 48 0
b/a % 100.00 120.00 51.25 60.00 0.00
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20
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b 5 4 3 2 0
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(R2_R5)
0 7,800 0 0 0
0 0 0 0 0
0 3,800 0 0 0
0 0 0 0 0
0 0 0 0 0
0 4,000 0 0 0
0 0 0 0
1
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a 1 1 1 1 1
b 0 0 1 0 0
b/a % 0.00 0.00 100.00 0.00 0.00
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a 4 5 4 2 2
b 4 6 2 1 0
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b 0 0 0 0 0
b/a % 0.00 0.00 0.00 0.00 0.00




©/2)

H27 )
a
b
b/a %
0 2,700 2,700 39,500 56,200
0 0 0 0 0
0 0 0 6,800 6.800
0 0 0 28,400 28.400
0 0 0 0 0
0 2,700 2,700 4,300 21.000
H30 0 0 0 10,200 50 75
____________________ ol __________©Oo] 0o (66.7%)
____________________ ol o ______0
IR I 0 S 0 | ____ 10,100
5 5 5 5 H31.2.5
"""""""""" L D ()
0 0 0 0
IR E 0O o | o ___0_]
____________________ ol 8o ______0
____________________ ol _________°4f oL ________0
0 0 0 0
R ol T TTTTTTTTTY T T T T o1 T




1/2)

| | 5-01-52-005
H30 H30
(R2_R5)
0 0 8,100 0 37,400
0 0 0 0 0
0 0 0 0 0
0 0 0 0 0
0 0 8,100 0 37,400
0 0 0 0 0
0 0 0 0
1
H27 )
a 1 1
b 1 0
100.00 0.00

b/a

%




©/2)

H27 )
a
b
b/a %
2,100 40,000 8,000 0 37,400
0 0 0 0 0
0 0 0 0 0
0 0 0 0 0
2,100 40,000 8,000 0 37,400
0 0 0 0 0
H30 0 0 8,100 0 55 75
____________________ 0 I AN o B N O (73.3%)
____________________ ol o ______0
IR I 0 S 0 | 0
0 0 8,100 0 H30.10.16
"""""""""" ol ""TTTTTTTTTO T T T Ty
0 0 7,938 0
IR E 0O o | o ___0_]
____________________ ol 8o ______0
____________________ ol _________°4f oL ________0
0 0 7,938 0
-------------------- T YT Ty T H31.4.26




1/2)

| | 5-01-52-006
H28 H28

(R2_R5)

3,000 0 0 0 0

0 0 0 0 0

0 0 0 0 0

0 0 0 0 0

0 0 0 0 0

3.000 0 0 0 2

0 0 0 0

1
M7 )

a 1
b 1
b/a % 100.00




©/2)

H27 )
a
b
b/a %
3,000 0 0 0 0
0 0 0 0 0
0 0 0 0 0
0 0 0 0 0
0 0 0 0 0
3,000 0 0 0 0
H30 3,000 0 0 0 0 75
____________________ 0 I AN o B N O (0.0%)
____________________ ol o ______0
IR I 0 S 0 | 0
5 5 5 5 H28.2.12
""""""""" 3,000 CTTO0OTTTTTTTTTTTolTTTTTTTTo
2,484 0 0 0
IR E 0O o | o ___0_]
____________________ ol 8o ______0
____________________ ol _________°4f oL ________0
0 0 0 0
""""""""" 2" 254" """"""0" "'""""'O'""""""'O" H29.6.27




1/2)

| | 5-01-52-008
Ho8 R
70 26,163
(R2_R5)
4,200 4,200 4,200 4,100 27,000
0 0 0 0 0
0 0 0 0 0
0 0 0 0 0
0 0 0 0 0
4,200 4,200 4,200 4,100 27,000
0.2
163
500 500 500 500
1
H7 )

a 70 6 6 7 6
b 70 6 2 3 0
b/a % 100.00 100.00 33.33 42.86 0.00




©/2)

H27 )
a
b
b/a %
7,200 7,200 7,200 7,100 27,000
0 0 0 0 0
0 0 0 0 0
0 0 0 0 0
0 0 0 0 0
7,200 7,200 7,200 7,100 27.000
H30 4,200 4,200 4,200 4,100 0 75
____________________ ol __________©Oo] 0o (0.0%)
____________________ ol o ______0
I A O] 0 | U . 0
5 5 5 5 H30.2.26
""""""""" 4,200 4200 T T TTTa200 | T T a,100
4,116 4,371 4,106 0
IR E 0O 0 | o _____0_|
____________________ ol 8o ______0
____________________ ol o _____0
0 0 0 0
""""""""" T R < T T H31.4.26




1/2)

| | 5-01-52-010
H8 H28
(R2_R5)
39,000 0 0 0 0
5,300 0 0 0 0
0 0 0 0 0
33,600 0 0 0 0
0 0 0 0 0
100 0 0 0 0
0 0 0 0
1
H27 )
a 1 1 1 1
b 1 0 0 0
b/a_% 100.00 0.00 0.00 0.00




©/2)

H27 )
a
b
b/a %
39,000 0 0 0 0
5.300 0 0 0 0
0 0 0 0 0
33,600 0 0 0 0
0 0 0 0 0
100 0 0 0 0
H30 39,000 0 0 0 0 75
_________________ 5300 ___ O O __________0 (0.0%)
____________________ ol o ______0
| ____33.600f _________ S 0 | 0
5 5 5 5 H28.2.18
R T O o T 0
38,564 0 0 0
IR I 5,350 | _ O o | o ___0_]
____________________ ol 8o ______0
________________ 82, _________OFf _ _________ O ________0
0 0 0 0
------------------- Wl TTTTTTYY T Y T H29.6.27




1/2)

| | 5-01-52-011
H29 H29
29 312.48
(R2_R5)
0 3,000 0 0 0
0 0 0 0 0
0 0 0 0 0
0 0 0 0 0
0 0 0 0 0
0 3,000 0 0 0
0 0 0 0
1
M7 )

a 1

. 1

b/a % 100.00




©/2)

%

b/a

i
i
!

«© To)
1~ 9 S ©
1 ; : o
1 S & %]
[K=) T -
i
i
i

Talal ol RN
Oleoeee° o|lojo|jo|0 |0
R IR
R R
R R
R R
R R
R R
R R
R R
R R
R R
L0 L1
P o

o]l ol o olo
P i e e e e
R R
R R
R R
R R
R R
R R
R R
R R
R R
R R
TR T
Iololol P
8121121218 Bleieieieig
) I R oAl
Rl I T T T O
R R
R R
R R
R R
R R
R R
R R
R R
iclolol lololol

~ o|olo olo
P i e e e e
R R
~ R R
& [ [
= R R
R R
R R
R R
R R
R R
L0 L1
T T
R R
R R
R R
R R
R R
R R
L L L L L L L L

H30




1/2)

| | 5-01-52-012
R

31

32

33
(R2_R5)
0 0 0 3,800 16,300
0 0 0 0 0
0 0 0 0 0
0 0 0 0 0
0 0 0 0 0
0 0 0 3,800 16,300
0 0 0 0

1
H27 )

a 2 1
b 0 0
0.00 0.00

b/a

%




©/2)

16,300

16.300

75

50

(66.7%)

H31.2.14

3,800

0

3,800

)

(H27

%

b/a

H30




1/2)

| | 5-01-53-022
H29 R
(R2_R5)
0 158,700 133,800 158,000 200,000
0 0 0 0 0
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Ho8 R
28 29
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(R2_R5)
17,600 15,000 13,700 8,000 12,300
0 0 0 0 0
0 0 0 0 0
0 0 0 0 0
1,200 1,200 1,200 700 1,000
16,400 13,800 12,500 7,300 11,300
0 0 0 0
1
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a 3 4 3 3 1
b 3 3 3 3 0
b/a % 100.00 75.00 100.00 100.00 0.00
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H8 R

500

1,000
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0 0 0 0 0
0 0 0 0 0
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0 0 0 0

1
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a 2 2 2 2 2
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1
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b/a_% 100.00 33.33 100.00 16.67 0.00




©/2)

H27 )
a 1 1 2 2 2
b 1 1 2 1 0
b/a % 100.00 100.00 100.00 50.00 0.00
6,500 6,500 6,500 6,500 19,200
0 0 0 0 0
0 0 0 0 0
3,700 6,500 6,500 6,500 19,200
2,800 0 0 0 0
0 0 0 0 0
H30 6,500 6,500 4,800 4,800 65 75
____________________ 0 I AN o B N O (86.7%)
____________________ ol 4 o ______0
IR 3./00f _______ 6,50 | ________ 4,800 | _______“ 4,800
2,800 0 0 0 H3l.2.5
"""""""""" ol ""TTTTTTTTTO T T T Ty
3,360 7,320 3,093 0
IR E 0O o | o ___0_]
____________________ ol 8o ______0
____________________ ol _________°f oL ________0
3,360 7,320 3,000 0
-------------------- cT Y T T H31.4.26




1/2)

| | 5-01-53-013
H8 R
28 50,000 29 R 10,000 90,000
(R2_R5)
50,000 20,000 20,000 20,000 20,000
0 0 0 0 0
0 0 0 0 0
50,000 20,000 20,000 20,000 20,000
0 0 0 0 0
0 0 0 0 0
0 0 0 0
1
H27 )
a 50,000 20,000 20,000 20,000
b 47,000 20,000 20,000 0
b/a_% 94.00 100.00 100.00 0.00




©/2)

H27 )
a
b
b/a %
50,000 50,000 50,000 50,000 20,000
0 0 0 0 0
0 0 0 0 0
50,000 50,000 50,000 50,000 20.000
0 0 0 0 0
0 0 0 0 0
H30 50,000 20,000 20,000 20,000 0 75
____________________ 0 I AN o B N O (0.0%)
____________________ ol 4 o ______0
| _____50000f ______ 20,000 ) _______20,000 ) ______ 20,000
5 5 5 5 H30.1.31
"""""""""" ol ""TTTTTTTTTO T T T Ty
47,000 20,000 20,000 0
IR E 0O o | o ___0_]
____________________ ol 8o ______0
________________ 47,000 | _____ 20,000 } 20,000 | _________0O
0 0 0 0
-------------------- T YTy T H31.4.26




1/2)

| | 5-01-53-016
H28 H28
3
(R2_R5)
5,600 0 0 0 0
0 0 0 0 0
0 0 0 0 0
0 0 0 0 0
3,700 0 0 0 0
1.900 0 0 0 0
0 0 0 0
1
M7 )
a 16
b 16
b/a % 100.00




©/2)

H27 )
a
b
b/a %
5,600 0 0 0 0
0 0 0 0 0
0 0 0 0 0
0 0 0 0 0
3,700 0 0 0 0
1,900 0 0 0 0
H30 5,600 0 0 0 0 75
____________________ 0 I AN o B N O (0.0%)
____________________ ol o ______0
IR I 0 S 0 | 0
3,700 0 0 0 H28.2.17
""""""""" 1,00  CTTToOlTTTTTTTTTTTToT T TTTTo
4,535 0 0 0
IR EE o1 ) O o | o ___0_]
____________________ ol 8o ______0
____________________ ol _________°4f oL ________0
3,023 0 0 0
-------------------- 1Y TR T T T H29.8.22




1/2)

| | 5-01-53-019
H8 R
1,600 2,000
450 600
400 418 300
600
(R2_R5)
6,400 6,400 6,400 6,400 25,600
0 0 0 0 0
0 0 0 0 0
0 0 0 0 0
6,400 6,400 6,400 6,400 25,600
0 0 0 0 0
0 0 0 0
1
H7 )
a 104 104 104 104
b 105 130 116 0
b/a % 100.96 125.00 111.54 0.00




©/2)

(H27
a
b
b/a
0 0 0 0 25,600
0 0 0 0 0
0 0 0 0 0
0 0 0 0 0
0 0 0 0 25,600
0 0 0 0 0
H30 6,400 6,400 0 75
____________________________________________________________ 0 (0.0%)
____________________________________________________________ 0 -
e ———————————— ————————————— ] ———————————————————————— - O —

6,400 6,400 H30.2.26
____________________________________________________________ -

1,354 0
e 0 ____0]
e 0 _____0
.o _______0

1,353 0
il miieleietet ot Antieietettleinte’ nl ittt ie77 ol ittt R1.5.16




1/2)

| | 5-01-53-010
H8 R
(R2_R5)
5,100 5,100 5,100 5,100 13,200
0 0 0 0 0
0 0 0 0 0
0 0 3,800 5,000 12,000
4,850 4,800 1,000 0 0
250 300 300 100 1,200
0 0 0 0
1
H7 )
a 10.00 12.00 12.00 12.00 12.00
b 12.02 12.58 12.71 11.58 0.00
b/a % 120.20 104.83 105.92 96.50 0.00




©/2)

H27 )
a
b
b/a %
5,100 5,100 5,100 3,300 13,200
0 0 0 0 0
0 0 0 0 0
0 0 3,800 3,000 12,000
4,850 4,800 1,000 0 0
250 300 300 300 1.200
H30 5,100 5,100 5,100 5,100 70 75
____________________ 0 I AN o B N O (93.3%)
____________________ ol o ______0
IR I 0 S 3,800  _______=° 5,000
4,850 4,800 1,000 0 H30.8.21
S O L Y T )
5,058 4,580 5,171 0
IR E 0O o | o ___0_]
____________________ ol 8o ______0
____________________ ol _________°of 240/ ________0
5,000 4,559 1,562 0
"""""""""" 58 [ T TaT|TTTTTTTTTi 200 T T TTTTTTTY ] R1.5.15




5-01-53-012

1/2)

(R2_R5)

10,500

O OO0 o |o

o lolololo|o

olHeollol ollcl o)

o lolololo|o

(H27

)

b/a

%




©/2)

10,500

10.500

75
(0.0%)

___6_________.

H28.2.12

olololo

)

(H27

%

b/a

H30




1/2)

| | 5-01-53-014
H28 H28
(R2_R5)
12,000 0 0 0 0
0 0 0 0 0
0 0 0 0 0
0 0 0 0 0
6,000 0 0 0 0
6.000 0 0 0 0
/
250 250 250 250
1
7 )
a 1
b 1
b/a % 100.00




©/2)

H27 )
a
b
b/a %
12,000 0 0 0 0
0 0 0 0 0
0 0 0 0 0
0 0 0 0 0
6,000 0 0 0 0
6,000 0 0 0 0
H30 12,000 0 0 0 0 75
____________________ 0 I AN o B N O (0.0%)
____________________ ol o ______0
IR I 0 S 0 | 0
6,000 0 0 0 H28.2.12
""""""""" 6,000 o0 T TTTTTTTTToTTTTTTTTo
11,373 0 0 0
IR E 0O o | o ___0_]
____________________ ol 8o ______0
_________________ ’e0{( ________ OM _________O4 _________O
5,686 0 0 0
------------------- Fl Ty Ty T H29.8.22




1/2)

| | 5-01-53-017
H8 H28
10
(R2_R5)
5,000 0 0 0 0
0 0 0 0 0
2,500 0 0 0 0
0 0 0 0 0
0 0 0 0 0
2.500 0 0 0 0
1/2
0 0 0 0
1
H7 )
a 10.00 12.00 12.00 12.00 12.00
b 12.02 12.58 0.00 0.00 0.00
b/a % 120.20 104.83 0.00 0.00 0.00




©/2)

H27 )
a 240 240 240 240 240
b 244 242 0 0 0
b/a % 101.67 100.83 0.00 0.00 0.00
10
5,000 0 0 0 0
0 0 0 0 0
2,500 0 0 0 0
0 0 0 0 0
0 0 0 0 0
2,500 0 0 0 0
10
H30 5,000 0 0 0 0 75
____________________ odl __________ 0 _ 00 (0.0%)
_________________ 2580} _________°o4 ol _________0
-------------------- O 0 H28.2.17
____________________ ol )0 _
2,500 0 0 0
10
4,917 0 0 0
I E ol Q| __________0|
_________________ 2204 __________O4 ____ ol _ _________0
____________________ ol _________°4f oL ________0
IS I of _________1 o O __________9|
2,717 0 0 0 H29.8.17

10




1/2)

| | 5-01-53-028
4
R
31 32

(R2_R5)
0 0 0 8,500 8,500
0 0 0 0 0
0 0 0 0 0
0 0 0 0 0
0 0 0 0 0
0 0 0 8,500 8,500
0 0 0 0

1/2

1

M7 )
. 4
- 0
0.00

b/a

%




©/2)
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L e |
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lololol R
e e eleieie e e 11919 °
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Lo [
~ o o o|lololololo lolololo
o 12121720
Lo [
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= Lo [
Lo [
s BEN BER
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H30




1/2)

| | 5-01-53-007
H8 R
(R2_R5)
3,000 3,000 3,000 3,000 12,000
0 0 0 0 0
0 0 0 0 0
3,000 3,000 3,000 3,000 12,000
0 0 0 0 0
0 0 0 0 0
0 0 0 0
1
H27 )
a 3 3 3 3 3
b 2 3 1 3 0
b/a_% 66.67 100.00 33.33 100.00 0.00




©/2)

H27 )
a
b
b/a %
3,000 3,000 3,000 3,000 12,000
0 0 0 0 0
0 0 0 0 0
3,000 3,000 3,000 3,000 12,000
0 0 0 0 0
0 0 0 0 0
H30 3,000 3,000 3,000 3,000 0 75
____________________ 0 I AN o B N O (0.0%)
____________________ ol 4 o ______0
IR 3,000f _______ 3,000 | _______ 3,000  _______= 3,000
5 5 5 5 H30.2.26
"""""""""" ol ""TTTTTTTTTO T T T Ty
1,750 500 2,500 0
IR E 0O o | o ___0_]
____________________ ol 8o ______0
_________________ 20 _______ %00 150 _________O0
0 0 0 0
R N I 1,000 | TTTTTTO ] H31.4.26




1/2)

| | 5-01-53-015
H28 H28

(R2_R5)

2,000 0 0 0 0

0 0 0 0

0 0 0 0

2,000 0 0 0 0

0 0 0 0

0 0 0 0

0 0 0 0

1
M7 )

a 1
b 1
b/a % 100.00




©/2)

H27 )
a
b
b/a %
2,000 0 0 0 0
0 0 0 0 0
0 0 0 0 0
2,000 0 0 0 0
0 0 0 0 0
0 0 0 0 0
H30 2,000 0 0 0 0 75
____________________ 0 I AN o B N O (0.0%)
____________________ ol o ______0
IR 2,000f _________ S 0 | 0
5 5 5 5 H28.2.12
"""""""""" ol ""TTTTTTTTTO T T T Ty
1,890 0 0 0
IR EE 1,890 | __ O __ o | o ___0_]
____________________ ol 8o ______0
____________________ ol _________°4f oL ________0
0 0 0 0
-------------------- T YTy T H29.8.22




1/2)

| | 5-01-53-025
H28
H29 R
H29 H30 R3
R4 RS R6
(R2_R5)
0 25,000 8,400 7,300 20,000
0 0 0 0 0
0 0 0 0 0
0 0 0 0 9,000
0 0 0 7,300 0
0 25,000 8,400 0 11,000
33
0 0 0 0
1
H7 )
a 1 2 2
b 1 2 0
b/a % 100.00 100.00 0.00




©/2)

H27 )
a
b
b/a %
32
33
34
0 0 0 0 20,000
0 0 0 0 0
0 0 0 0 0
0 0 0 0 9.000
0 0 0 0 0
0 0 0 0 11.000
H30 0 25,000 8,400 7,300 60 75
0 [ ol 0 (80.0%)
____________________ ol o 0 0
T T ol T o T 6"""""':]1_
"""""""""" Y Y ) R1.8.29
"""""""""" ol """ TTTT25,000 |TT T T T 8400 | T T T
0 20,400 7,334 0
0 0 O ___0|
____________________ ol T o T T
"""""""""" o T o | T T o 0
"""""""""" N Y
"""""""""" ol " TTTTe0,400 T T T T T T TR | T T T H31.4.26




1/2)

| | 5-01-53-004
H8 R
10 x50 500 5 x 200 1,000
2 x 500 1,000 2 x 300 600
2 x 200 400
(R2_R5)
3,500 5,100 4,600 3,500 14,000
0 0 0 0 0
0 0 0 0 0
3,500 5,000 4,600 3,500 14,000
0 0 0 0 0
0 100 0 0 0
0 0 0 0
1
H27 )
a 17 20 20 20 20
b 21 25 20 18 0
b/a_% 123.53 125.00 100.00 90.00 0.00




©/2)

H27 )
a
b
b/a %
3,500 3,500 3,500 3,500 14,000
0 0 0 0 0
0 0 0 0 0
3,500 3,500 3,500 3,500 14,000
0 0 0 0 0
0 0 0 0 0
H30 3,500 5,100 4,600 3,500 0 75
____________________ ol __________©Oo] 0o (0.0%)
____________________ ol o ______0
3,500 5,000 4,600 3,500
-------------------- % A B il B H30.1.31
"""""""""" ol """ Tt Ty Ty
6,600 5,400 4,000 0
IR E 0O o | o ___0_]
____________________ ol 8o ______0
_________________ 530 ( ______4»%00f 350 | _________O
201 0 0 0
""""""""" 1,000 [~ TTTTTTe00 1T T T T T TTs00 | T T T T TTTTTY ] R1.5.15




5-01-53-021

1/2)

31

(R2_R5)

8,000

0

0

0

O OO0 o |o

o lolololo|o

4,000

olHeollol ollcl o)

o lolololo|o
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(H27

)

b/a

%
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H30




1/2)

| | 5-01-54-001
27 1 23 14
22
H8 H28
(R2_R5)
2,600 0 0 0 0
0 0 0 0 0
0 0 0 0 0
0 0 0 0 0
0 0 0 0 0
2.600 0 0 0 0
0 0 0 0
1
103
H27 )

a 1 1 1 1 1
b 1 1 0 0 0
b/a_% 100.00 100.00 0.00 0.00 0.00




©/2)

H27 )
a
b
b/a %
2,600 0 0 0 0
0 0 0 0 0
0 0 0 0 0
0 0 0 0 0
0 0 0 0 0
2,600 0 0 0 0
H30 2,600 0 0 0 0 75
____________________ 0 I AN o B N O (0.0%)
____________________ ol o ______0
IR I 0 S 0 | 0
5 5 5 5 H28.2.12
""""""""" 2,600 0T TTTTTTTTTTOol T TTTTTTo
2,214 0 0 0
IR E 0O o | o ___0_]
____________________ ol 8o ______0
____________________ ol _________°4f oL ________0
0 0 0 0
""""""""" 2" '2I4" """"""0" """"""O'""""""'O" H29.6.29

27




1/2)

| | 5-01-56-002
4,000 173 1/3 1/3
(R2_R5)
0 0 0 0 2,700
0 0 0 0 0
0 0 0 0 1,300
0 0 0 0 0
0 0 0 0 0
0 0 0 0 1,400
1/3
0 0 0 0
1
M7 )
a 0 0
b 1 1
b/a % 0.00 0.00




©/2)

2,700

1.300

1.400

75
(0.0%)

___6_________.

H28.2.12

H29.6.19

olololo

)

(H27

%

b/a

H30




5-01-56-003

1/2)

25,500

1/3

1/3

1/3

(R2_R5)

17,000

0

8,500

0

O OO0 o |o

o lolololo|o

0

olHeollol ollcl o)

o lolololo|o

8,500

1/3

(H27

)

b/a

%




©/2)

17,000

8.500

8.500

75
(0.0%)

___6_________.

H28.2.12

olololo

)

(H27

%

b/a

H30




1/2)

| | 5-01-56-005
H8 R
(R2_R5)
2,000 2,000 2,000 2,000 8,000
0 0 0 0 0
0 0 0 0 0
0 0 0 0 0
0 0 0 0 0
2.000 2,000 2,000 2,000 8,000
0 0 0 0
1
H27 )
a 1 1 1 1 1
b 1 1 1 1 0
b/a_% 100.00 100.00 100.00 100.00 0.00




©/2)

H27 )
a
b
b/a %
2,000 2,000 2,000 2,000 8,000
0 0 0 0 0
0 0 0 0 0
0 0 0 0 0
0 0 0 0 0
2,000 2,000 2,000 2,000 8.000
H30 2,000 2,000 2,000 2,000 0 75
____________________ 0 N I (N o N N |} (0.0%)
____________________ ol o ______0
I A O] 0 | U . 0
5 5 5 5 H30.2.26
""""""""" 2,000 | 2,000 " """ T2.000 | 72,000
2,000 2,000 2,000 0
IR E 0O 0 | o _____0_|
____________________ ol 8o ______0
____________________ ol o _____0
0 0 0 0
""""""""" 2,000 [T TTT72000 |7 T TTT 20000 [T H31.4.29




1/2)

| | 5-01-56-013
H8 R
(R2_R5)
500 500 500 500 2,000
0 0 0 0 0
0 0 0 0 0
0 0 0 0 0
0 0 0 0 0
500 500 500 500 2,000
0 0 0 0
1
H27 )
a 1 1 1 1 1
b 1 1 0 0 0
b/a_% 100.00 100.00 0.00 0.00 0.00




©/2)

H27 )
a
b
b/a %
500 500 500 500 2,000
0 0 0 0 0
0 0 0 0 0
0 0 0 0 0
0 0 0 0 0
500 500 500 500 2000
H30 500 500 500 500 0 75
____________________ 0 I AN o B N O (0.0%)
____________________ ol o ______0
IR I 0 S 0 | 0
5 5 5 5 H30.2.8
R N D Y R
267 0 0 0
IR E 0O o | o ___0_]
____________________ ol 8o ______0
____________________ ol _________°4f oL ________0
0 0 0 0
"""""""""'267" """"""0 """"""" O_ """"""'0" R1.5.21




1/2)

| | 5-01-56-006
H28 R

( 50ha
(R2 R5)
2,000 800 2,000 2,000 8,000
0 0 0 0 0
400 0 400 400 1,600
0 0 0 0 0
0 0 0 0 0
1,600 800 1,600 1,600 6,400

x 26/100
0 0 0 50
1
H27 )

a 3 3 3 3 3
b 1 2 1 2 0
b/a % 33.33 66.67 33.33 66.67 0.00




©/2)

H27 )
a
b
b/a %
2,000 2,000 2,000 2,000 8,000
0 0 0 0 0
400 400 400 400 1.600
0 0 0 0 0
0 0 0 0 0
1,600 1,600 1,600 1,600 6.400
H30 2,000 800 2,000 2,000 0 75
____________________ 0 N I (N o N N |} (0.0%)
___________________ 40) O 400 ____400
I A O] 0 | U . 0
5 5 5 5 H30.2.8
""""""""" 1,600 | T80T TT1e00 | T T1,800
994 968 995 0
IR E O 0 | o _____0_|
298 28 | __ S |0
____________________ ol o _____0
0 0 0 0
R N 95 |T T T T T T a0 | TTTTTTTY R1.5.21




1/2)

| | 5-01-56-007
H28 R
H30 0.44ha 13.79%a 1.17ha 0.88ha
H31 18.98ha 1.17ha
(R2 _R5)
10,000 10,000 13,500 15,500 40,000
0 0 0 0 0
6,600 6,600 7,300 7,700 26,400
3,400 3,400 4,000 7,800 13,600
0 0 0 0 0
0 0 2,200 0 0
68
0 0 0 0
1
(H27 )
a 20 20 20 20 20
b 12 12 12 12 0
b/a % 60.00 60.00 60.00 60.00 0.00




©/2)

H27 )
a
b
b/a %
20ha 20ha 20ha 20ha 80ha
10,000 10,000 10,000 10,000 40,000
0 0 0 0 0
6,600 6,600 6,600 6,600 26400
3,400 3,400 3,400 3,400 13.600.
0 0 0 0 0
0 0 0 0 0
20ha 20ha 0.44ha 18.98
1.17ha ha 1.17h
13.79%a a
H30 10,000 10,000 13,500 15,500 0 75
____________________ 0 N I (N o N N |} (0.0%)
_________________ 6.600( ______6.600( _______7,80] ______7.700
IS 3:400) _______O 3,400 { ________ 4,000 | ________ 7,800 |
5 5 5 5 H30.1.24
"""""""""" L O )
ha ha 1.17ha
3 3 13.79%h
10,228 11,085 14,039 0
IR E (015 S VA (N 0 | o _____0_|
_________________ 5100 ) _______ >S40 f ______ 479 _ _________0
_________________ 3,500 ) _______ 3,500 j ______350|_ _________0
0 0 0 0
""""""""" 1,628 | 2,18 |7 T TTs7s0 | T T 0] R1.5.21
ha ha ha
3 3 3




1/2)

| | 5-01-56-009
Ho8 R
700
(R2_R5)
20,500 17,500 15,500 20,500 82,000
0 0 0 0 0
17,500 11,000 12,500 17,500 70,000
0 0 0 0 0
0 0 0 0 0
3.000 6,500 3,000 3,000 12,000
25,000
0 0 0 0
1
H7 )
a 1 1 1 1 1
b 1 1 1 1 0
b/a % 100.00 100.00 100.00 100.00 0.00




©/2)

H27 )
a
b
b/a %
L=700 L=700 L=700 L=700 L=2,800
20,500 20,500 20,500 20,500 82,000
0 0 0 0 0
17,500 17,500 17,500 17,500 70.000
0 0 0 0 0
0 0 0 0 0
3,000 3,000 3,000 3,000 12000
L=520 L=400 L=500 L=600
H30 20,500 17,500 15,500 20,500 0 75
____________________ 0 N I (N o N N |} (0.0%)
7500 11,000 y _______12,500 | _______ 17,500
I A O] 0 | U . 0
5 5 5 5 H30.1.30
""""""""" 3,000 6,500 | """ ""3.000 | 3,000
L=520 L=400 L=570
15,454 16,146 10,575 0
IR E QO 0 | o _____0_|
________________ 15,454 | _____16,146 [ 10,57 ) _________O
____________________ ol o _____0
0 0 0 0
-------------------- Cl Ty T T T T T T T T T R1.5.21
L=520 L=400 L=570




1/2)

| | 5-01-56-014
96 14
12
H28 H29
(R2_R5)
2,500 2,500 0 0 0
0 0 0 0 0
0 0 0 0 0
0 0 0 0 0
0 0 0 0 0
2.500 2,500 0 0 0
0 0 0 0
1
H27 )

a 1 1 1

b 1 1 1

b/a % 100.00 100.00 100.00




©/2)

H27 )
a
b
b/a %
2,500 2,500 0 0 0
0 0 0 0 0
0 0 0 0 0
0 0 0 0 0
0 0 0 0 0
2,500 2,500 0 0 0
H30 2,500 2,500 0 0 0 75
____________________ 0 I AN o B N O (0.0%)
____________________ ol o ______0
IR I 0 S 0 | 0
5 5 5 5 H30.2.26
""""""""" 2,500 | 2,500 T TTTTo T TTTTTTTTTo
2,228 2,235 0 0
IR E 0O o | o ___0_]
____________________ ol 8o ______0
____________________ ol _________°4f oL ________0
0 0 0 0
""""""""" 2.28 | T T T T s T T T T T T T ] H30.6.11




1/2)

| | 5-01-56-015
H30 R

2 9
(R2_R5)
0 0 1,800 17,500 54,000
0 0 0 0 0
0 0 0 0 0
0 0 0 17,500 54,000
0 0 0 0 0
0 0 1,800 0 0
0 0 0 0

1
H27 )

a 1 1
b 1 0
100.00 0.00

b/a

%




©/2)

H27 )
a
b
b/a %
0 0 0 0 54,000
0 0 0 0 0
0 0 0 0 0
0 0 0 0 54,000
0 0 0 0 0
0 0 0 0 0
10
H30 0 0 1,800 17,500 55 75
____________________ 0 I AN o B N O (73.3%)
____________________ ol o ______0
IR I 0 S 0 | ____ 17,500
5 5 5 5 H31.2.6
"""""""""" N L O )
0 0 1,382 0
IR E 0O o | o ___0_]
____________________ ol 8o ______0
____________________ ol _________°4f oL ________0
0 0 0 0
"""""""""" N N R R1.5.21




1/2)

| | 5-01-56-016
GPS
H30 H30
oPS
(R2_R5)
0 0 3,100 0 0
0 0 0 0 0
0 0 800 0 0
0 0 0 0 0
0 0 0 0 0
0 0 2.300 0 0
220 220 220 220
1
M7 )

a 16

b 12

75.00

b/a

%




©/2)

75
(0.0%)

___6_________.

H30.1.30

H31.4.29

olololo

3,100

GPS

800
2,300

GPS

2,819

2,819

GPS

GPS

)

(H27

%

b/a

H30




1/2)

| | 5-01-56-017
H30 H30
(R2_R5)
0 0 3,300 0 8,900
0 0 1,600 0 0
0 0 100 0 4,400
0 0 0 0 0
0 0 0 0 0
0 0 1,600 0 4,500
0 0 0 0
1
M7 )
a 2 2
b 2 0
b/a % 100.00 0.00




©/2)

H27 )
a
b
b/a %
0 0 0 0 8,900
0 0 0 0 0
0 0 0 0 4.400
0 0 0 0 0
0 0 0 0 0
0 0 0 0 4.500
2
H30 0 0 3,300 0 45 75
____________________ ol o ___1e00]) __ o ______O (60.0%)
____________________ ol __________ o4 ________204 _________0O
IR I 0 S 0 | 0
5 5 5 5 H31.2.5
"""""""""" L O )
2
0 0 1,448 0
IR E 0O o | o ___0_]
____________________ ol 0T ___0
____________________ ol _________°4f oL ________0
0 0 0 0
"""""""""" O_ 7 """"""0" """""'7IO'""""""'O" R1.5.21




1/2)

| | 5-01-56-018
R
(R2_R5)
0 0 0 1,000 1,000
0 0 0 0 0
0 0 0 0 0
0 0 0 0 0
0 0 0 0 0
0 0 0 1,000 1,000
1,000 0 0 0
1
M7 )

. 1
- 0
0.00

b/a

%




©/2)

1,000

1.000

75

60

(80.0%)

H31.2.6

1,000

0

1,000

)

(H27

%

b/a

H30




1/2)

| | 5-01-56-011
Ho8 R
40 20 10 20
20 20
10 20

60 20 30 20
(R2_R5)
13,000 18,000 25,000 0 13,000
0 0 0 0 0
6,500 9,000 12,500 0 6,500
6,500 9,000 12,500 0 6,500
0 0 0 0 0
0 0 0 0 0

1/2
0 0 0 0
1
H7 )

a 1 1 1 1 1
b 0 1 1 1 0
b/a % 0.00 100.00 100.00 100.00 0.00




©/2)

H27 )
a
b
b/a %
16,800 13,000 10,800 0 13,000
0 0 0 0 0
8,400 6,500 5,400 0 6.500
0 0 0 0 6.500
0 0 0 0 0
8,400 6,500 5,400 0 0
H30 13,000 18,000 25,000 0 60 75
____________________ 0 N I (N o N N |} (80.0%)
_________________ 6,500 _______ 9000 1250 _________0
IS 6,500 ________ 9,000 f ______ 12,50 | _________( 0
5 5 5 5 H31.2.6
"""""""""" ) L Y )
11,966 17,477 24,757 0
IR E (015 S VA (R 0 | o _____0_|
_________________ 593 )| _______8rm8 | 13w )| _________0
_________________ 590 ) _______ 870 1230 | _________0
0 0 0 0
------------------- 1Ty T T T T T H31.4.29




1/2)

| | 5-01-56-012
H28 H29
(R2_R5)
1,000 1,000 0 0 0
0 0 0 0 0
0 0 0 0 0
0 0 0 0 0
0 0 0 0 0
1.000 1,000 0 0 0
0 0 0 0
1
H27 )
a 3 3 3 3 3
b 3 1 0 0 0
b/a % 100.00 33.33 0.00 0.00 0.00




©/2)

H27 )
a
b
b/a %
1,000 1,000 1,000 0 0
0 0 0 0 0
0 0 0 0 0
0 0 0 0 0
0 0 0 0 0
1,000 1,000 1,000 0 0
H30 1,000 1,000 0 0 0 75
____________________ 0 I AN o B N O (0.0%)
____________________ ol o ______0
IR I 0 S 0 | 0
5 5 5 5 H30.1.30
""""""""" 1,000 T Lo00 T TTTTTTTo T TTTTTTTTo
972 0 0 0
IR E 0O o | o ___0_]
____________________ ol 8o ______0
____________________ ol _________°4f oL ________0
0 0 0 0
It ittt ok Attty ittt " i H30.8.13




1/2)

| | 5-01-57-002
47
H8 H29
5/ 20
1/2
(R2_R5)
94,900 146,200 0 0 0
0 116,500 0 0 0
0 0 0 0 0
88,400 26,700 0 0 0
0 0 0 0 0
6.500 3,000 0 0 0
2,675 2,675 2,675 2,675
1

H7 )
a 480 480 480 500 500
b 0 1 124 0 0
b/a % 0.00 0.21 25.83 0.00 0.00




©/2)

H27 )
a
b
b/a %
186,400 0 0 0 0
90.000 0 0 0 0
0 0 0 0 0
96,300 0 0 0 0
0 0 0 0 0
100 0 0 0 0
H30 94,900 146,200 0 0 0 75
____________________ of_______ 1,500 _________ O} _________0 (0.0%)
____________________ ol 4 o ______0
| _______ 8400/ ______ 26,700 |\ __ 0 | 0
5 5 5 5 H29.5.31
""""""""" 6,500 | 3,000 "o o
94,069 146,003 0 0
IR E ol ______ 15,722 | __ o | o ___0_]
____________________ ol 8o ______0
________________ 90,500 | ______26600 { _________of _________0
0 0 0 0
""""""""" 3,569 | 3,681 |T T TTTTTToTTTTTTTTTTTO] H30.8.13
28
28 29 29

28
29

10




1/2)

| | 5-01-57-004
H8 H30
H28  H30
H28
R
(R2_R5)
67,600 25,000 17,200 13,100 0
0 0 0 0 0
27,300 0 0 0 0
0 25,000 17,200 13,100 0
30,300 0 0 0 0
10.000 0 0 0 0
0 0 0 0
1
H7 )
a 332.00 100.00 322.00 322.00 322.00
b 156.00 105.00 443.60 503.89 0.00
b/a % 46.99 105.00 137.76 156.49 0.00




©/2)

27 )
a
b
b/a %
20 20 20
20,000 21,000 21,000 0 0
0 0 0 0 0
10.000 10,500 10,500 0 0
0 0 0 0 0
0 0 0 0 0
10,000 10,500 10,500 0 0
8 40 8 40 40
H30 67,600 25,000 17.200 13,100 | 70 75 |
____________________ N Y ) (93.3%)
o ______2r30f U 0 0
____________________ oY N 2 I AN 20 IR C ) I
o l______.%030f o I O 0 -
10,000 0 0 o
8 40 8 40 40
66,204 20,628 16,524 0
I I ol O ol _________0]
________________ 2400014 ________. o4 __________Oofl_ _________0O
____________________ Of ______20,600 | 1650 | _________0
I 30,30  _________¢ o Ol ________0,
11,904 58 54 5 H31.4.23
st 40 8t 40 st 0




1/2)

| | 5-01-57-007
H8 R
(R2_R5)
2,500 2,500 2,500 2,500 10,000
0 0 0 0 0
0 0 0 0 0
2,500 2,500 2,500 2,500 10,000
0 0 0 0 0
0 0 0 0 0
10,000
0 0 0 0
1
H27 )
a 50 50 50 50 50
b 50 50 50 50 0
b/a_% 100.00 100.00 100.00 100.00 0.00




©/2)

H27 )
a
b
b/a %
50 50 50 50 50
2,500 2,500 2,500 2,500 10,000
0 0 0 0 0
0 0 0 0 0
2,500 2,500 2,500 2,500 10.000
0 0 0 0 0
0 0 0 0 0
50 50 50 50
H30 2,500 2,500 2,500 2,500 0 75
____________________ ol __________©Oo] 0o (0.0%)
____________________ ol 4 o ______0
IS 2,900 ) 2,50  ________ 2,900 ) ___=- 2,500 |
5 5 5 5 H30.2.26
"""""""""" ) L Y )
50 50
50
2,500 2,500 2,500 0
IR E 0O 0 | o _____0_|
____________________ ol 8o ______0
_________________ 2,500 | _______ 2,50} 250/ _________0
0 0 0 0
-------------------- Cl Ty T T T T T T T T T H31.4.23
50t 50t 50t




1/2)

| | 5-01-57-008
H28 R
500 200 300
(R2_R5)
3,000 3,000 3,000 3,000 12,000
0 0 0 0 0
0 0 0 0 0
0 0 0 0 0
0 0 0 0 0
3.000 3,000 3,000 3,000 12,000
10,080
0 0 0 0
1 )
H27 )
a 40,000 40,000 40,000 40,000 40,000
b 40,000 40,000 40,000 40,000 0
b/a % 100.00 100.00 100.00 100.00 0.00




©/2)

( )
H27 )
a 2,000,000 2,000,000 2,000,000 2,000,000 2,000,000
b 5,000,000 5,000,000 2.000,000 2,000,000 0
b/a % 250.00 250.00 100.00 100.00 0.00
3,000 3,000 3,000 3,000 12,000
0 0 0 0 0
0 0 0 0 0
0 0 0 0 0
0 0 0 0 0
3,000 3,000 3,000 3,000 12.000
H30 3,000 3,000 3,000 3,000 0 75
____________________ odl __________ 0 _ 00 (0.0%)
____________________ ol 4 o) 0
-------------------- O 0 H30.2.26
____________________ ol o0 _
3,000 3,000 3,000 3,000
3,000 3,000 3,000 0
I E ol Q| __________0|
____________________ ol . ______°d4 ol _________0
____________________ ol ______.800;] 8000 _______0
IS I of _________1 o O __________9|
3,000 0 0 0 H3l.4.23
4 4 4
500 500 500




1/2)

| | 5-01-57-010
H8 H30
(R2_R5)
1,000 1,200 2,000 0 0
0 0 0 0 0
0 0 0 0 0
0 0 0 0 0
0 0 0 0 0
1.000 1,200 2,000 0 0
0 0 0 0
1
H27 )
a 200 380 550 700
b 80 470 400 0
b/a_% 40.00 123.68 72.73 0.00




©/2)

H27 )
a
b
b/a %
1,000 2,000 2,000 0 0

0 0 0 0 0

0 0 0 0 0

0 0 0 0 0

0 0 0 0 0

1,000 2,000 2,000 0 0
H30 1,000 1,200 2,000 0 0 75

____________________ 0 N I (N o N N |} (0.0%)
____________________ ol o ______0
I A O] 0 | U . 0

5 5 5 5 H30.2.8
""""""""" 1,000 4200 T T 2000 o

712 978 1,135 0

IR E 0O 0 | o _____0_|
____________________ ol 8o ______0
____________________ ol o _____0

0 0 0 0
AV 978 | T 1,135 | "0 | H31.4.23

80

470

400




1/2)

| | 5-01-57-012
H8 R
(R2_R5)
20,000 20,000 20,000 20,000 80,000
0 0 0 0 0
0 0 0 0 0
0 0 0 0 0
20,000 20,000 20,000 20,000 80,000
0 0 0 0 0
0 0 0 0
1
H27 )
a 10 10 10 10 10
b 10 10 10 10 0
b/a_% 100.00 100.00 100.00 100.00 0.00




©/2)

H27 )
a
b
b/a %
20,000 20,000 20,000 20,000 80,000
0 0 0 0 0
0 0 0 0 0
0 0 0 0 0
20,000 20,000 20,000 20,000 80,000
0 0 0 0 0
H30 20,000 20,000 20,000 20,000 0 75
____________________ ol __________©Oo] 0o (0.0%)
0 O . 0 | 0
T T o ol T o T 0|
T 20,000 T 20,000 20,000 20,000 130.2.26
"""""""""" ) L Y )
20,000 20,000 20,000 0
IR E 0O 0 | o _____0_|
____________________ ol 8o ______0
____________________ ol o _____0
20,000 20,000 20,000 0
-------------------- Cl Ty T T YT T T T T T H31.4.23




1/2)

| | 5-01-57-014
(R2_R5)
0 0 0 0 5,500
0 0 0 0 0
0 0 0 0 0
0 0 0 0 0
0 0 0 0 0
0 0 0 0 5,500
0 0 0 0
1
M7 )
a
b

b/a

%




©/2)

5,500

5.500

75
(0.0%)

___6_________.

H27.7.31

olololo

)

(H27

%

b/a

H30




1/2)

| | 5-01-57-015
Ho8 R
28 29
30 H30
28 10710 29 31 1/2
(R2_R5)
31,200 148,400 33,800 37,600 0
30,300 63,100 12,800 12,700 0
0 0 0 0 0
0 58,700 0 0 0
0 700 1,300 8,600 0
900 25,900 19,700 16,300 0
0 0 0 0
1
H7 )

a 1 2 5 7
b 2 3 5 0
b/a % 200.00 150.00 100.00 0.00




©/2)

H27 )
a
b
b/a %
60,600 12,500 24,500 0 0
60.000 6,200 12.200 0 0

0 0 0 0 0

0 0 0 0 0

0 0 0 0 0

600 6,300 12,300 0 0
H30 31,200 148,400 33,800 37,600 65 75
30,300 ______ 63,100 | ________12,800 | _______ 12,700_ (86.7%)

0 0 0 0
"""""""""" ol 88,700 | T o | TTTTTTTTTo
"""""""""" ol T 700|100 | 8,600 H3l.2.6
R 25,900 | " "19,700 |~ 16,300

29,797 141,777 30,083 0
IR E 28,800 [ ______f 62,006_|________ 10,935 | __________0O_]

0 0 0 0
om0 | ol 0

0 706 1,271 0
R 2 20,365 | 17.877 | 7T H31.4.23




1/2)

| | 5-01-57-016
H8 H29

28

29
(R2_R5)
8,700 900 0 0 0
0 0 0 0 0
0 0 0 0 0
0 0 0 0 0
0 0 0 0 0
8.700 900 0 0 0
0 0 0 0

1
H27 )

a 2 5 5 5
b 6 10 0 0
b/a_% 300.00 200.00 0.00 0.00




©/2)

H27 )
a
b
b/a %
26,000 25,500 0 0 0
20.000 12,700 0 0 0
0 0 0 0 0
0 0 0 0 0
0 0 0 0 0
6,000 12,800 0 0 0
H30 8,700 900 0 0 0 75
____________________ 0 I AN o B N O (0.0%)
____________________ ol o ______0
IR I 0 S 0 | 0
5 5 5 5 H30.2.26
""""""""" 8,700 | 900 | T o T TTTTTTTo
3,774 0 0 0
IR E 0O o | o ___0_]
____________________ ol 8o ______0
____________________ ol _________°4f oL ________0
0 0 0 0
""""""""" 3" '7?4" """"""0" """"""O'""""""'O" H30.8.13




1/2)

| | 5-01-57-017
H30
H32
(R2_R5)
0 0 0 0 4,200
0 0 0 0 0
0 0 0 0 0
0 0 0 0 0
0 0 0 0 0
0 0 0 0 4,200
5,000
0 0 0 0
1
H27 )
a 3 3 3 3 3
b 0 0 0 0 0
b/a_% 0.00 0.00 0.00 0.00 0.00




©/2)

o = !
=] S 1
| 3¢ 1
< < | =)
e .
1S -
1 o o
1 ( 2]
1o -
1
1
1
° ° S EEREE folololo
[ T [ T
[ T [ T
[ T [ T
[ T [ T
[ T [ T
[ T [ T
[ T [ T
[ T [ T
[ T [ T
[ T [ T
[ I B [ B
T T 1 T T 1
(=) o o|ololololo Iolololo
T I I [ Bl gl
[ T [ T
[ T [ T
[ T [ T
[ T [ T
[ T [ T
[ T [ T
[ T [ T
[ T [ T
[ T [ T
[ T [ T
1 0
T T T T T T T T
o o o|ololololo Iololals
[ Rl Bl 121919
[ T [ T
[ T [ T
[ T [ T
[ T [ T
[ T [ T
[ T [ T
[ T [ T
[ T [ T
[ T [ T
[ T [ T
[ T [ T
+—t—+—t +—t—t+—t
~ (=) o o|ololololo Iolololo
T I I [ Bl gl
[ T [ T
N Pl P
P [ [ T
< [ T [ T
[ T [ T
[ T [ T
[ T [ T
[ T [ T
[ T [ T
L1 11 L1 1
L L
= [ I [ T
[ T [ T
g Pl P
= [ T [ I I
[ T [ T
1 1 1 1 1 1 1 1

H30




1/2)

| | 5-01-57-018
28
H29 H29
H29
(R2_R5)
0 33,100 0 0 0
0 0 0 0 0
0 0 0 0 0
0 33,100 0 0 0
0 0 0 0 0
0 0 0 0 0
43,800
0 0 0 0
1
H27 )
a 1 1 2 2 2
b 0 0 2 0 0
b/a_% 0.00 0.00 100.00 0.00 0.00




©/2)

i
i
!

«© ™
1~ 9 S ©
1 5 : o
1 S & %]
[K=) T -
i
i
i

lolalol RN
Oleoeee° o|lojo|jo|0 |0
N TR
N oo
N oo
N oo
N oo
N oo
N oo
N oo
N oo
N oo
L1 L1
P P
ojolololo
P i e e e e
N oo
N oo
N oo
N oo
N oo
N oo
N oo
N oo
N oo
N oo
o T
lolalol R
3[C1°181° 2[eicigie
R I o 1A%
] T S oo
A A
N oo
N oo
N oo
N oo
N oo
N oo
N oo
P o|lolololol olololololo
[ 1212120
N oo
~ R R
& [ [
< N oo
N oo
N oo
N oo
N oo
N oo
L1 [
T 1 T T 1
N oo
N oo
N oo
N oo
N oo
N oo
1 1 1 1 1 1 1 1

%

b/a

H30




1/2)

| | 5-01-57-019
H29 R
(R2_R5)
0 5,000 0 1,500 0
0 0 0 0 0
0 0 0 0 0
0 5,000 0 1,500 0
0 0 0 0 0
0 0 0 0 0
0 0 0 0
1
1
H27 )

a 1 1 1 1 1
b 0 0 1 0 0
b/a % 0.00 0.00 100.00 0.00 0.00




©/2)

H27 )
a
b
b/a %
3.0

0 0 0 0 0

0 0 0 0 0

0 0 0 0 0

0 0 0 0 0

0 0 0 0 0

0 0 0 0 0

H30 0 5,000 0 1,500 60 75

0 [ ol 0 (80.0%)
____________________ ol o 0 0
"""""""""" ol " "s000 | T T o | T T1500
-------------------- % I Bt B H31.2.6
"""""""""" ol ""TTTTTTTTTO T T T Ty

0 3,474 0 0

0 0 0 ___0_]
____________________ N ) o
"""""""""" o T T T TTo | T T T 0
"""""""""" N Y
"""""""""" O_ 7 """"'3"27'4" """"""o'""""""'o" H30.8.13




1/2)

| | 5-01-57-020
53
( 56 ) 28
H29 H29
(R2_R5)
0 3,600 0 0 0
0 0 0 0 0
0 0 0 0 0
0 0 0 0 0
0 3,600 0 0 0
0 0 0 0 0
0 0 0 0
1
7 )
a 1 1
b 1 0
b/a_% 100.00 0.00




©/2)

1
1
i
O [ep]
'o o N A
I = . :
1 O [q\] nU.
1 ; 5 o
S 3 3
1o T -
1
1
1
o|ejejeiee o|oiojoiojo
[ | Lo
[ | Lo
[ | Lo
[ | Lo
[ | Lo
[ | Lo
[ | Lo
[ | Lo
[ | Lo
[ | Lo
[ | [ |
P o]
o|jolo o
P i e e e e
[ | Lo
[ | Lo
[ | Lo
[ | Lo
[ | Lo
[ | Lo
[ | Lo
[ | Lo
[ | Lo
[ | Lo
P P
lololol Il 11
gleieii8 Slwieein e
i I Y =[O 1
0 0 0% Ol 1 1
[ | Lo
[ | Lo
[ | Lo
[ | Lo
[ | Lo
[ | Lo
[ | Lo
[ | Lo
~ o|loclolocliol olololololo
[ R 1212170
[ | Lo
s R R
& [ [
< [ | Lo
[ | Lo
[ | Lo
[ | Lo
[ | Lo
[ | Lo
[ | [ |
1 1 1 1
[ | Lo
[ | Lo
[ | Lo
[ | Lo
[ | Lo
[ | Lo
1 1 1 1 1 1 1 1

%

b/a

H30




1/2)

| | 5-01-57-021
H30 H30
H30
(R2_R5)
0 0 3,000 0 0
0 0 0 0 0
0 0 0 0 0
0 0 0 0 0
0 0 0 0 0
0 0 3,000 0 0
0 0 0 0
1
H27 )
a 1 1 1 1 1
b 0 0 0 1 0
b/a_% 0.00 0.00 0.00 100.00 0.00




©/2)

1
1
1
1 o 5
'o o -~ N
I = . '
1 o — 7o)
[ o ;
1 N ™ =
1o T
1
1
1
o|ejejeiee o|oiojoiojo
[ | Lo
[ | Lo
[ | Lo
[ | Lo
[ | Lo
[ | Lo
[ | Lo
[ | Lo
[ | Lo
[ | Lo
[ | [ |
P o]
ol olo olo —
ST 19 | B A
- A0 e
o o
R N ™
[ | Lo
[ | Lo
[ | Lo
[ | Lo
[ | Lo
[ | Lo
[ | Lo
P P
T T T T T T T T
olololololo ololololsls
112170 121919
[ | Lo
[ | Lo
[ | Lo
[ | Lo
[ | Lo
[ | Lo
[ | Lo
[ | Lo
[ | Lo
[ | Lo
[ | Lo
—~ o|locloloclioclio olololololo
[ R 1212170
[ | Lo
s R R
& [ [
< [ | Lo
[ | Lo
[ | Lo
[ | Lo
[ | Lo
[ | Lo
[ | [ |
1 1 1 1
= [ Lo
[ | Lo
s ERR RN
= [ I | [ I |
[ | Lo
1 1 1 1 1 1 1 1

H30




1/2)

| | 5-01-58-001
H8 R
(R2_R5)
9,100 9,100 9,100 11,800 36,400
0 0 0 0 0
0 0 0 0 0
0 0 0 0 0
0 0 0 0 0
9.100 9.100 9,100 11,800 36,400
9,700 9,700 9,700 9,700
1
H7 )

a 67.00 68.00 68.00 68.00 68.00
b 65.00 69.00 69.40 69.10 0.00
b/a % 97.01 101.47 102.06 101.62 0.00




©/2)

H27 )
a
b
b/a %
9,100 9,100 9,100 9,100 36,400
0 0 0 0 0
0 0 0 0 0
0 0 0 0 0
0 0 0 0 0
9,100 9,100 9,100 9,100 36.400
H30 9,100 9,100 9,100 11,800 40 75
____________________ 0 I AN o B N O (53.3%)
____________________ ol o ______0
IR I 0 S 0 | 0
5 5 5 5 H31.2.5
""""""""" 9,100 |~ 9,100 |7 """ " T9.100 | 11,800
9,296 9,489 9,499 0
IR E 0O o | o ___0_]
____________________ ol 8o ______0
____________________ ol _________°4f oL ________0
0 0 0 0
""""""""" 9,296 | 9,489 | T 9490 | T T TTTTTO] R1.5.21




1/2)

| | 5-01-58-002
H8 R
(R2_R5)
28,000 9,000 9,000 9,000 36,000
0 0 0 0 0
0 0 0 0 0
9,000 9,000 9,000 9,000 36,000
19,000 0 0 0 0
0 0 0 0 0
0 0 0 0
1
H7 )
a 5,000 7,000 3,000 3,000 3,000
b 3,000 7,100 3,000 3,000 0
b/a % 60.00 101.43 100.00 100.00 0.00




©/2)

H7 )
a
b
b/a %
G G G G)
3,000 3,000 3,000 3,000
9,000 9,000 9,000 0 36,000
0 0 0 0 0
0 0 0 0 0
9,000 9,000 9,000 0 36.000
0 0 0 0 0
0 0 0 0 0
¢ G) G G )
7, 00 3,000 3,000 3,000
H30 28,000 9,000 9,000 9,000 0 75
____________________ ol OV O ______0 (0.0%)
____________________ ol 00
_________________ 9000 %0001 90001 ______ 9000 o018
39000 0 0 I 0 _
0 0 0 0
D G) G)
7, 00 3,000 3,000
28,000 9,000 9,000 0
I B ol O o 0]
____________________ ol o 0
_________________ 9000 ______ %001 ______900 | ________0
I I 19,000 0 | N I




1/2)

| | 5-01-58-004
H28 H29
(R2_R5)
94,800 5,200 0 0 0
0 0 0 0 0
0 0 0 0 0
39,000 5,200 0 0 0
0 0 0 0 0
55.800 0 0 0 0
0 0 0 0
1
H27 )
a 100,000 94,800 5,200
b 60,594 23,446 0
b/a % 60.59 24.73 0.00




©/2)

H27 )
a
b
b/a %
94,800 5,200 0 0 0
0 0 0 Q Q
0 0 0 0 0
39,000 5,200 0 0 0
0 0 0 0 0
55,800 0 0 0 0
H30 94,800 5,200 0 0 0 75
____________________ ol __________ 0] _ _________Oo]_ _________o (0.0%)
____________________ ol 0.0
30001 5200 | . 0 I 0 ]
0 0 0 0 H30.2.26
I G o o T 0
23,446 0 0] 0
S S ol o o 0]
____________________ ol oo ____0
____________________ ol 00
0 0 0 0
"""""""" R L O R B
29 3 31
29 3 31

29 3 31




1/2)

| | 5-01-58-005
H8 R
(R2_R5)
2,400 2,400 2,400 2,400 9,600
0 0 0 0 0
0 0 0 0 0
0 0 0 0 0
0 0 0 0 0
2.400 2,400 2,400 2,400 9,600
0 0 0 0
1
H7 )
a 157 170 170 170 170
b 150 5,568 241 1 0
b/a % 95.54 3275.29 141.76 0.59 0.00




©/2)

H27 )
a
b
b/a %
2,400 2,400 2,400 2,400 9,600
0 0 0 0 0
0 0 0 0 0
0 0 0 0 0
0 0 0 0 0
2,400 2,400 2,400 2,400 9.600
H30 2,400 2,400 2,400 2,400 0 75
____________________ ol __________©Oo] 0o (0.0%)
____________________ ol o ______0
I A O] 0 | U . 0
5 5 5 5 H30.2.26
""""""""" 2,400 | 2,400 7T TTT2400 | T T 72,400
2,325 1,535 108 0
IR E 0O 0 | o _____0_|
____________________ ol 8o ______0
____________________ ol o _____0
0 0 0 0
""""""""" 2,325 | TA,63% | T T TTTTTIo8 [T TTTTTTTTO ] H31.4.17




1/2)

| | 5-01-58-006
H8 R
(R2_R5)
2,800 5,700 5,700 3,700 76,000
0 0 0 0 0
0 0 0 0 0
0 0 0 0 0
0 0 0 0 0
2.800 5,700 5,700 3,700 76,000
0 0 0 0
1
H7 )
a 8,000 9,000 9,000 9,000 9,000
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1
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0 0 0 0 0
0 0 0 0 0
0 0 0 0 0
0 0 0 0 0
1.500 1,900 1,900 1,900 7,600
0 0 0 0
1
H27 )
a 2,400 2,400 2,400 2,400 2,400
b 2,446 2,408 2,264 2,117 0
b/a % 101.92 100.33 94.33 88.21 0.00
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0 0 0 0 0
0 0 0 0 0
0 0 0 0 0
0 0 0 0 0
6.800 7,000 7,000 7,000 28,000
26
0 0 0 0
1
H27 )
a 385 385 385 385 385
b 105 231 179 237 0
b/a % 27.27 60.00 46.49 61.56 0.00
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0 0 0 0 0
0 0 0 0 0
0 0 0 0 0
0 0 0 3,200 2,000
4,800 0 12,000 0 7,500
0 0 0 0
1
H7 )
a 67,000 68,000 67,000 66,000 65,000
b 65,892 67,491 65,865 65,120 0
b/a % 98.35 99.25 98.31 98.67 0.00




©/2)

H27 )
a
b
b/a %
H32
H34
4,800 0 9,800 0 9,500
0 0 0 0 0
0 0 0 0 0
0 0 0 0 0
0 0 0 0 2,000
4,800 0 9,800 0 7.500
H30 4,800 0 12,000 3,200 55 75
____________________ 0 I AN o B N O (73.3%)
____________________ ol o ______0
IR I 0 S 0 | 0
0 0 0 3,200 H3l.2.6
""""""""" 4,80 0T TTTTTT12000 | o
4,936 0 10,476 0
IR E 0O o | o ___0_]
____________________ ol 8o ______0
____________________ ol _________°4f oL ________0
4,935 0 10,476 0
-------------------- 1Y T R T T T R1.5.21




1/2)

5-01-60-004

20

(R2_R5)

)

(H27

%

b/a




©/2)

75
(0.0%)

___6_________.

H29.7.27

olololo

)

(H27

%

b/a

H30




1/2)

| | 5-01-60-005
H8 H28
(R2_R5)
3,400 0 0 0 0
0 0 0 0 0
0 0 0 0 0
0 0 0 0 0
0 0 0 0 0
3.400 0 0 0 0
0 0 0 0
1
H27 )
a 100 100 100 100
b 20 0 0 0
b/a_% 20.00 0.00 0.00 0.00




©/2)

H27 )
a
b
b/a %
3,400 0 0 0 0
0 0 0 0 0
0 0 0 0 0
0 0 0 0 0
0 0 0 0 0
3,400 0 0 0 0
H30 3,400 0 0 0 0 75
____________________ 0 I AN o B N O (0.0%)
____________________ ol o ______0
IR I 0 S 0 | 0
5 5 5 5 H28.7.27
""""""""" 3,400 CTTO0OTTTTTTTTTTTol T TTTTTTTo
1,939 0 0 0
IR E 0O o | o ___0_]
____________________ ol 8o ______0
____________________ ol _________°4f oL ________0
0 0 0 0
""""""""" ]_" 53?9" """"""0" """"""O'""""""'O" H29.6.26
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| | 5-01-60-006
H8 R
12 12 3
(R2_R5)
3,500 3,600 3,600 3,600 14,400
0 0 0 0 0
0 0 0 0 0
0 0 0 0 0
0 0 0 0 0
3.500 3,600 3,600 3,600 14,400
0 0 0 0
1
H27 )
a 11 12 13 13 13
b 8 4 13 8 0
b/a_% 72.73 33.33 100.00 61.54 0.00




©/2)

H27 )
a
b
b/a %
12 13 13 13 13
12 3 12 12 3 12 3 12 3
3,500 3,600 3,600 3,600 14,400
0 0 0 0 0
0 0 0 0 0
0 0 0 0 0
0 0 0 0 0
3,500 3,600 3,600 3,600 14.400
12 13 13 13
12 3 12 12 3 12 3
H30 3,500 3,600 3,600 3,600 0 75
____________________ 0 I AN o B N O (0.0%)
____________________ ol o ______0
IR I 0 S 0 | 0
5 5 5 5 H30.2.26
""""""""" 3,500 | 3,600 | 73,600 | 3,600
12 13 13
12 3 12 12 3
2,847 2,878 2,489 0
IR E 0O o | o ___0_]
____________________ ol 8o ______0
____________________ ol _________°4f oL ________0
0 0 0 0
""""""""" 2.847 | T 2em T T T Ty ase T T T TTTTTTTY ] H31.4.26




1/2)

| | 5-01-60-014
H30 H30
(R2_R5)
0 0 134,200 0 0
0 0 0 0 0
0 0 0 0 0
0 0 128,400 0 0
0 0 0 0 0
0 0 5,800 0 0
0 0 0 0
1
M7 )
a 7 12
b 10 0
142.86 0.00

b/a

%




©/2)

H27 )
a
b
b/a %
0 0 0 0 0
0 0 0 0 0
0 0 0 0 0
0 0 0 0 0
0 0 0 0 0
0 0 0 0 0
H30 0 0 134,200 0 70 75
____________________ 0 I AN o B N O (93.3%)
____________________ ol o ______0
IR I 0 O _____128400 | 0
5 5 5 5 H30.8.15
"""""""""" ol T o T T T TTs00 | T T T o
0 0 130,146 0
IR E 0O o | o ___0_]
____________________ ol 9 ______85m6 | _________0
____________________ ol O _____ 94500 _________0
0 0 0 0
"""""""""" ol TTTTTTTTTO T T TS0 | T T T R1.5.21
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| | 5-01-60-007
107
H22 26 H21 (H27 31 H26 H32 36  H3l
R R
3 H32 36
(R2_R5)
0 0 0 0 0
0 0 0 0 0
0 0 0 0 0
0 0 0 0 0
0 0 0 0 0
0 0 0 0 0
H31
0 0 0 0
1
H7 )

a 2 2
b 0 0
b/a % 0.00 0.00
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1
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H30




1/2)

| | 5-01-60-009
70
4 70
70
H28 R
(R2 R5)
4,500 4,500 4,500 4,500 18,000
0 0 0 0 0
0 0 0 0 0
0 0 0 0 0
0 0 0 0 0
4,500 4,500 4,500 4,500 18,000
100
5,200 5,200 5,200 5,200
1
70
(H27 )
a 1,000 1,000 1,000 1,000 1,000
b 714 664 719 1,051 0
b/a % 71.40 66.40 71.90 105.10 0.00




©/2)

70
(H27 )
a 700 700 700 700 700
b 661 629 710 728 0
b/a % 94.43 89.86 101.43 104.00 0.00
4,500 4,500 4,500 4,500 18,000
0 0 0 0 0
0 0 0 0 0
0 0 0 0 0
0 0 0 0 0
4,500 4,500 4,500 4,500 18.000
H30 4,500 4,500 4,500 4,500 55 75
____________________ O N ¢ [ o W N (73.3%)
____________________ ol .0
I I ol 0 A I 0 )
0 0 0 0 H30.8.21
""""""""" 4500 | AB00 | T T Tas00 | 4,500
4,312 4,312 5,051 0
IR E ol 0 o 0]
____________________ ol oo _______0
____________________ o o ______0
0 0 0 0
""""""""" el Y S N B




1/2)

| | 5-01-60-010
60
60
10
H30
H31
(R2_R5)
0 0 0 0 27,000
0 0 0 0 0
0 0 0 0 0
0 0 0 0 0
0 0 0 0 27,000
0 0 0 0 0
3,000 0 0 0
1
H27 )
a 20 20 20 20 20
b 0 0 0 20 0
b/a_% 0.00 0.00 0.00 100.00 0.00




©/2)

H27 )
a
b
b/a %
2
0 0 3,000 27,000 27,000
0 0 0 0 0
0 0 0 0 0
0 0 0 0 0
0 0 3,000 27,000 27,000
0 0 0 0 0
H30 0 0 0 0 0 75
____________________ ol __________©Oo] 0o (0.0%)
____________________ ol o ______0
IR I 0 S 0 | 0
5 5 5 5 H31.2.5
"""""""""" ol ""TTTTTTTTTO T T T Ty
0 0 0 0
IR E 0O o | o ___0_]
____________________ ol 8o ______0
____________________ ol _________°4f oL ________0
0 0 0 0
-------------------- T YTy T H31.4.26




1/2)

| | 5-01-60-011
H8 R
(R2_R5)
112,500 0 27,700 0 220,000
0 0 0 0 0
0 0 0 0 0
112,500 0 27,700 0 220,000
0 0 0 0 0
0 0 0 0 0
0 0 0 0
1
H27 )
a 50 50 50 50 50
b 50 50 0 50 0
b/a_% 100.00 100.00 0.00 100.00 0.00




©/2)

H27 )
a
b
b/a %
150,000
x 3/4
112,500 0 0 0 220,000
0 0 0 0 0
0 0 0 0 0
112,500 0 0 0 220,000
0 0 0 0 0
0 0 0 0 0
150,000
x 3/4 3/4
H30 112,500 0 27,700 0 55 75
____________________ 0 N I (N o N N |} (73.3%)
____________________ ol o ______0
e A12%004 0| ______2n7o0]) 0
5 5 5 5 H30.10.23
"""""""""" ) L Y )
150,000
x 3/4 3/4
106,029 0 27,579 0
IR E 0O 0 | o _____0_|
____________________ ol 8o ______0
| ______ 16000} _________ O ______ 20,540 | _________0
0 0 0 0
------------------- ST T T T T T R1.5.21




1/2)

| | 5-01-60-012
40
H29 H30
X
(R2_R5)
0 5,000 2,000 0 0
0 0 0 0 0
0 0 0 0 0
0 4,900 2,000 0 0
0 0 0 0 0
0 100 0 0 0
0 0 0 0
1
H27 )
a 20 20 20 20 20
b 0 0 20 20 0
b/a_% 0.00 0.00 100.00 100.00 0.00




©/2)

(H27 )
a
b
b/a %
8,800
x 3/4
0 6,600 0 0 0
0 0 0 0 Q
0 0 0 0 0
0 0 0 0 0
0 0 0 0 0
0 6,600 0 0 0
6,620 2,700  x
x 3/4 3/4
H30 0 5,000 2,000 0 0 75
____________________ O N ¢ [ o W N (0.0%)
____________________ ol .0
0 4,900 2,000 0
-------------------- 6 I ------------6-------------0-' H29.10.18
"""""""""" o T TTTTI00 T T T T T T
6,620 2,700  x
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0 4,307 2,160 0
IR E ol 0 o 0]
____________________ ol ool _________0
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"""""""""" ol - T T T T T O T TTTTTTTTY R1.5.21




1/2)

| | 5-01-60-013
40
H29 H29
(R2_R5)
0 5,400 0 0 0
0 1,900 0 0 0
0 0 0 0 0
0 3,400 0 0 0
0 0 0 0 0
0 100 0 0 0
0 0 0 0
1
H27 )
a 10 10 10 10 10
b 0 0 10 0 0
b/a_% 0.00 0.00 100.00 0.00 0.00




©/2)

H27 )
a
b
b/a %
3,500
x 3/4

0 4,500 0 0 0

0 1,900 0 0] Q

0 0 0 0 0

0 0 0 0 0

0 0 0 0 0

0 2,600 0 0 0

7,149
x 3/4
H30 0 5,400 0 ol o 7 |
____________________ o) _______ LS04 _________ 9O} _________0 (0.0%)

0 0 0 0
"""""""""" ol T340 | T o T
-------------------- ol TR TSSO T TS H30.2.26
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1/2)

| | 5-01-60-008
18 31
Ho8 R
18 31
(R2_R5)
13,000 10,500 11,700 10,500 42,000
0 0 0 0 0
1,100 1,100 1,400 1,100 4,400
8,000 8,000 9,000 8,000 32,000
0 0 0 0 0
3.900 1,400 1,300 1,400 5,600
1/2
0 0 0 0
1
H7 )

a 380 380 380 380 380
b 322 340 322 342 0
b/a % 84.74 89.47 84.74 90.00 0.00




©/2)

H27 )
a
b
b/a %
380 380 380 380 350
13,000 13,000 13,000 13,000 42,000
0 0 0 0 0
1,100 1,100 1,100 1,100 4400
8,000 8,000 8,000 8,000 32.000
0 0 0 0 0
3,900 3,900 3,900 3,900 5.600
380 350 350 350
H30 13,000 10,500 11,700 10,500 0 75
___________________ odl __________ 0 _ 00 (0.0%)
| ____rwof _______ 1,100 ) ________L400 | ______ 1,100
________________ §’_099- ________8_’_090_- ________2’5)99__________8_’9(10_. H30.2.26
___________________ ol )0 _
3,900 1,400 1,300 1,400
380 350 350
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I E ol Q| __________0|
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________________ ,40) 8000 400 ________0
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| | 5-01-61-036
9,982
(R2_R5)
0 0 0 0 0
0 0 0 0 0
0 0 0 0 0
0 0 0 0 0
0 0 0 0 0
0 0 0 0 0
0 0 0 0
1
M7 )
a
b

b/a

%
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___6_________.
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(H27

%

b/a
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1/2)

| | 5-01-61-037
9,982
(R2_R5)
0 0 0 0 0
0 0 0 0 0
0 0 0 0 0
0 0 0 0 0
0 0 0 0 0
0 0 0 0 0
0 0 0 0
1
M7 )
a
b

b/a

%
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(0.0%)

___6_________.

H28.2.17

olololo

)

(H27

%

b/a

H30




1/2)

| | 5-01-61-038
H29 H30
29
30
(R2 _R5)
0 6,000 6,900 0 0
0 1,000 1,100 0 0
0 0 0 0 0
0 0 0 0 0
0 0 0 0 0
0 5,000 5,800 0 0
5
0 0 0 0
1
H27 )
a 1 1
b 1 1
b/a % 100.00 100.00




©/2)

(H27 )
a
b
b/a %
0 0 0 0 0
0 0 0 0 0
0 0 0 0 0
0 0 0 0 0
0 0 0 0 0
0 0 0 0 0
H30 0 6,000 6,900 0 0 75
__________________ oy ________Looo; ________1J400} _________0O (0.0%)
0 U U 0
-------------------- 9 ------------O-- S ES—— H30.2.26
0 0 0 0_
"""""""""" 0] " 775000 T """ 580 | 0
0 5,616 6,750 0
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1/2)

| | 5-01-61-018
(R2_R5)
0 0 0 0 2,000
0 0 0 0 0
0 0 0 0 0
0 0 0 0 0
0 0 0 0 0
0 0 0 0 2.000
0 0 0 0
1
M7 )
a
b

b/a

%




©/2)

2,000

2.000

75
(0.0%)

___6_________.

H28.2.12

olololo

)

(H27

%

b/a

H30




1/2)

| | 5-01-61-014
H28 H30
28 , a a 29 ( (
30 250 a
172
(R2_R5)
35,600 37,000 27,000 0 0
17,000 18,500 13,000 0 0
0 0 0 0 0
15,300 16,600 11,700 0 0
0 0 0 0 0
3.300 1,900 2,300 0 0
0 0 0 0
1
H27 )
a 1 2 3 2
b 1 2 3 2
b/a % 100.00 100.00 100.00 100.00




©/2)

H27 )
a
b
b/a %
35,600 32,000 31,000 0 0
17.000 16,000 15,500 0 0
0 0 0 0 0
15,300 14,400 13,900 0 0
0 0 0 0 0
3,300 1,600 1,600 0 0
H30 35,600 37,000 27,000 0 55 75
17,000 ___ 18,500 f________13,000 | __________( 0 (73.3%)
____________________ ol 4 o ______0
1800  ______ 16,600 | 1700 | ¢ 0
5 5 5 5 H30.8.15
""""""""" 3,300 | 1,900 """ 2300 | o
33,836 39,593 26,331 0
IR . 9,859 | ________ 18,500_________ 13,000 | __________0O_]
____________________ ol 8o ______0
_________________ 0 ( 16600 [ 11700 | _________O
0 0 0 0
"""""""" 16,077 | 4,493 |7 T T TT1est | T o | H31.4.25

33.77
L=16.0m W=2.0m)




1/2)

| | 5-01-61-001
46.58km 1.25km
H28 R
28 500 W=4.0m 29 280 W=5.0m
(R2_R5)
10,000 7,100 0 0 23,800
0 0 0 0 0
0 0 0 0 0
0 0 0 0 0
0 0 0 0 0
10,000 7,100 0 0 23,800
0 0 0 0
1
H27 )
a 1 1 2
b 1 1 2
b/a % 100.00 100.00 100.00




©/2)

H27 )
a
b
b/a %
1
500 280 220 250
4.0 5.0 5.0 3.0 1,120
10,000 7,100 4,500 4,500 23,800
0 0 0 0 0
0 0 0 0 0
0 0 0 0 0
0 0 0 0 0
10,000 7,100 4,500 4,500 23800
500 280
4.0 5.0
H30 10,000 7,100 0 0 60 75
____________________ 0 I AN o B N O (80.0%)
____________________ ol o ______0
IR I 0 S 0 | 0
5 5 5 5 H31.2.6
T T T 10,000 T T 7,000 | T o T 0
500 367
4.0 4.5
8,835 6,848 0 0
IR E 0O o | o ___0_]
0 0 0 0
I N AN - 2 I N B
0 0 0 0
""""""""" 8.835 | 5,348 |7 T TTTTTToTTTTTTTTTTTO] H30.8.13

L=500m W=4.0m)

(L=320mW=4_5m)
(L=47mW=3-0m)




1/2)

| | 5-01-61-002
Ho8 R
28 L=19.30m 29
30 31
1/2
(R2_R5)
115,200 136,000 12,800 27,100 129,600
37,200 82,100 2,500 17,400 64,800
0 0 0 0 0
70,100 39,800 9,200 9,200 58,300
0 0 0 0 0
7.900 14,100 1,100 500 6,500
0 0 0 0
1
H7 )
a 2 1 1 1 1
b 2 1 1 1 0
b/a % 100.00 100.00 100.00 100.00 0.00




©/2)

H27 )
a
b
b/a %
19.3
131,000 78,300 32,400 32,400 129,600
65.500 39,100 16,200 16..200. 64.800
0 0 0 0 0
58,900 35,200 14,500 14,500 58.300
0 0 0 0 0
6,600 4,000 1,700 1,700 6.500
(
19.3
H30 115,200 136,000 12,800 27,100 60 75
o ___37,200 _______ 82,100 | _________ 2,500 | _______ 17,400_ (80.0%)
____________________ ol 4 o ______0
10,200 ___ 39,800 | ________ 9,200 ) _______S% 9,200 |
5 5 5 5 H31.2.6
""""""""" 7,000 1400771100 | T T T TTs00
(
19.3
105,722 138,290 11,826 0
I I 31,315 | ______¢ 83,371 | __ 4,661 | __________0_|]
____________________ ol 8o ______0
________________ 68,000 | ______ 90,400 } _______ 7,00 | _________0
0 0 0 0
R Y 2 R RS D O H31.4.26
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| | 5-01-61-003
H28 R
H8 L=103n W=4.5m  H3l L=157m W=4.5m
(R2_R5)
5,100 0 0 8,300 0
0 0 0 0 0
0 0 0 0 0
4,500 0 0 7,800 0
0 0 0 0 0
600 0 0 500 0
0 0 0 0
1
260
H27 )
a 103 157
b 103 0
b/a % 100.00 0.00




©/2)

H27 )
a
b
b/a %
103 157
4.5 4.5
5,100 0 0 7,100 0
0 0 0 0 0
0 0 0 0 0
4,500 0 0 6,300 0
0 0 0 0 0
600 0 0 800 0
103 157
45 4.5
H30 5,100 0 0 8,300 55 75
____________________ 0 I AN o B N O (73.3%)
____________________ ol o ______0
IR 4501 _________ S 0 | __ 7,800 |
5 5 5 5 H31.2.5
R O o T w00
103
4.5
4,899 0 0 0
IR E 0O o | o ___0_]
____________________ ol 8o ______0
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| | 5-01-61-004
5.0 6.0
H28 H28
28 5.0 6.0
(R2_R5)
17,400 0 0 0 0
0 0 0 0 0
0 0 0 0 0
0 0 0 0 0
0 0 0 0 0
17.400 0 0 0 9
0 0 0 0
1
M7 )
a 1
b 1
b/a % 100.00




©/2)

H27 )
a
b
b/a %
5.0
6.0
17,400 0 0 0 0
0 0 0 0 0
0 0 0 0 0
0 0 0 0 0
0 0 0 0 0
17,400 0 0 0 0
5.0
6.0
H30 17,400 0 0 0 0 75
____________________ ol __________©Oo] 0o (0.0%)
____________________ ol o ______0
I A O] 0 | U . 0
5 5 5 5 H28.2.12
R N O o T 0
6.1
5.0
16,524 0 0 0
IR E 0O 0 | o _____0_|
____________________ ol 8o ______0
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0 0 0 0
------------------- il Ty T T T T T T H29.8.17
(L=6.1m
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| | 5-01-61-005
27 710
1420 5.5
H8 H30
28 30 W=5.5m 29 W=5.5m 32 75 W=5.5m
(R2_R5)
3,200 5,000 0 0 10,200
0 0 0 0 0
0 0 0 0 0
0 0 0 0 0
0 0 0 0 0
3.200 5,000 0 0 10,200
0 0 0 0
1
H7 )
a 90 30 75
b 80 34 50
b/a % 88.89 113.33 66.67




©/2)

H27 )
a
b
b/a %
30 75 75 100
5.5 5.5 5.5 5.5
3,200 7,600 7,600 0 10,200
0 0 0 0] Q
0 0 0 0 0
0 0 0 0 0
0 0 0 0 0
3,200 7,600 7,600 0 10.200
30 50
5.5 4.6
H30 3,200 5,000 0 0 0 75
____________________ O N ¢ [ o W N (0.0%)
____________________ ol .0
I I ol 0 A I 0 )
0 0 0 0 H30.8.21
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39 50
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| | 5-01-61-007
758.45
H29 R
29 100 30 90 31 207
(R2_R5)
0 2,000 3,700 2,800 0
0 0 0 0 0
0 0 0 0 0
0 0 0 0 0
0 0 0 0 0
0 2,000 3,700 2,800 0
0 0 0 0
1
H7 )
a 100 90 207
b 253 90 0
b/a % 253.00 100.00 0.00




©/2)

27 )
a
b
b/a %
100 100
0 2,000 2.000 0 0
0 0 0 0 0
0 0 0 0 0
0 0 0 0 0
0 0 0 0 0
0 5,000 2000 0 0
100 90 207
H30 0 2,000 3,700 2800 | 50 75 |
____________________ N Y ) (66.7%)
____________________ ol _________°1 ol .0
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| | 5-01-61-008
H28 H29
28 29 80  W=4.5m
(R2_R5)
3,400 17,500 0 0 0
0 0 0 0 0
0 0 0 0 0
0 17,500 0 0 0
0 0 0 0 0
3.400 0 0 0 0
0 0 0 0
1
(H27 )
a 1 1
b 1 1
b/a % 100.00 100.00
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(H27 )
a
b
b/a %
80
4.5
1,500 12,500 0 0 0

0 0 0 0 0

0 0 0 0 0

0 0 0 0 0
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1,500 12,500 0 0 0
103
4.0
205.74
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